Brain Teasers

1. A company took up a contract to put a metal band all around the Earth, so that the Equator is well-marked. After they had made all the calculations and ordered all the material, it was realised that any band on the ground would not be easily seen. So they decided to build it at a uniform height of 10 metres above the ground. How much more length of band would they need than originally calculated? (You can take the Earth to be fully spherical). Do you think the extra amount needed is so large that it would delay the project?

2. There are three people A, B and C. One of them always tells the truth (he is a knight), one always lies (he is a knave), and one sometimes lies and sometimes speaks the truth (he is a spy).

A says: "C is a knave."

B says: "A is a knight."

C says: "I am the spy."

Who is the knight, who the knave, and who the spy?

3. Trick puzzle: What mathematical symbol can be put between 5 and 9, to get a number bigger than 5 and smaller than 9?
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